A & 0l & A

20159 E =7 18 JIEtSEsH M (2 E)
20H- 22 - FMAY - A (3IH) ol &b o o o HRE2 -
2 2 28,340,000 23,300,000 5,040,000 21.63%
X AL 25,231,084 20,315,985 4,915,099 24 .19%
Hegs 3,000,746 2,875,845 124,901 4.34%
HHSYAY 108, 170 108, 170 0 0.00%
BA2S 4,144,000 3,700,000 444,000 12.00%
MotEE - 2 E 4,144,000 3,700,000 444,000 12.00%
2 - H= el 1,367,233 1,048, 134 319,099 30.44%
SEHL B (SEHLSESH) 1,367,233 1,048, 134 319,099 30.44%
MPES (sS4 2,776,767 2,651,866 124,901 4.71%
WEHHK S (S RHLSEEIH) 2,767,721 2,651,866 115,855 4.37%
BERIE(SENLSLEIH) 9,046 0 9,046 &=
NP 4,800,000 4,800,000 0 0.00%
IEMEPE 3,400,000 3,400,000 0 0.00%
ELIBIEYE RS 3,176,021 3,176,021 0 0.00%
HASEHAHIS(HASEAZHARNIIZS 600,000 600,000 0 0.00%
237)
JEZHYREN(AEZ0IIBSHIA) 2,576,021 2,576,021 0 0.00%
WSS (AS =X D) 223,979 223,979 0 0.00%
BEXE(ABZ0IISSEH) 223,979 223,979 0 0.00%
ASI = X Y g 1,400,000 1,400,000 0 0.00%
FOIAS MBI 1,400,000 1,400,000 0 0.00%
FOAS MEXA(FULASKAL ST 1,400,000 1,400,000 0 0.00%
=EELP)
2EUTANY 19,287,830 14,691,830 4,596,000 31.28%
S 14,887,830 10,291,830 4,596,000 44.66%
sta 2 el 14,887,830 10,291,830 4,596,000 44.66%
TR (R SALSLSIH) 3,298,117 1,914,830 1,383,287 72.24%
SFEIX S HH A (R =A RS2 E) 11,589,713 8,377,000 3,212,713 38.35%
X oG Al 2,100,000 2,100,000 0 0.00%
T AR 800,000 800,000 0 0.00%
SADIBES (JIBALSEEA) 500,000 500,000 0 0.00%
HOI0INBCAHHA LUK S A (RIIDIDBE 300,000 300,000 0 0.00%
AN ST S AL A SESH )
EHSHHMNA AL 1,300,000 1,300,000 0 0.00%
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